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Across

2. An embryo with 2 different cell
components.

4. A disease in which cell divide in an
uncontrolled manner.

6. The exterior germ layer.

13. What process occurs in the fallopian
tubes?

16. This contains an unfertilized egg.
17. What stem cells can differentaite into
closely related family cells?

18. What develops from a zygote?

19. Methylmercury.

20. The contains lung cells,
thyriod cells and pancreatic cells.
Word Bank

Differentiation Teratogen
Ectoderm Mesoderm
Parthenote Zygote
Unipotent Mutagen
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22. An organism 8§ weeks are
fertilization.
Down

1. What germ layer contains bone,
muscle and connective tissue?

3. The name for pre-birth human
development?

5. is the process where a
cell changes from one cell type to another.
7. What stage reorganises a single
layered bastula into a multilayer gastrula?
8. The female sex hormone.

9. Can differentitate into any cell type.
10. When a cancer creates a secondary
tumour, what process is that called?

Cancer Embyro
Metastatis Follicle
Fetus Estrogen
Multipotent Fertilization

11. BRCA1 and BRCA2, what are they?
12. What stem cells can self-renew?

14. An unfertilized egg that has been
artifically stimulated to create an embryo.
15. The union of a female and male

gamete

21. An agent that can alter an organisms
DNA.

Totipotent Gastrulation
Antenatal Endoderm
Oncogene Blastocyst
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